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AVERAGE & AGES WORK SHEET  
 
BOOK SOURCE SPLIT UP  
 

TITLE STD NEW OLD TERM Exercise 

 
Average  

9th New book Term 3 5.1 

9th New book Term 2 5.1 

9th Old book Term 2 3.2 

9th New book Term 3 5.1 

R.S.AGGARWAL  
(2020 Edition) 

Page No: 206 – 239 

 
WORK SHEET  

 
1. The maximum temperature in a city on 7 days of a certain week was 34.8° 

C, 38.5°C, 33.4°C, 34.7°C, 35.8°C, 32.8°C, 34.3°C. Find the mean 
temperature for the week.  
xU Fwpg;gpl;l thuj;jpy; efuj;jpd; mjpfgl;r ntg;gepiy 34.8° C, 38.5°C, 
33.4°C, 34.7°C, 35.8°C, 32.8°C, 34.3°C Mf ,Ue;jJ. me;j thuj;jpd; ruhrhp 
ntg;gepiyiaf; fhz;f.  
a. 33.8°  b. 34.9°  c. 34.2°   d. 35.5° 

 
2. The mean weight of 10 boys in a cricket team is 65.5 kg. What is the total 

weight of 10 boys.  
xU fphpf;nfl; FOtpy; 10 khzth;fspd; ruhrhp vil 65.5 fp.fp. me;j gj;J 
khzth;fspd; nkhj;j vil vd;d?  
a. 655   b. 665   c. 670   d. 675  

 
3. If the mean of the following numbers is 38, find the value of x. 48, x, 37, 38, 

36, 27, 35, 34, 38, 49, 33. 
gpd;tUk; vz;fspd; ruhrhp 38 vd;why;> x ,d; kjpg;igf; fz;lwpaTk;?  
48, x, 37, 38, 36, 27, 35, 34, 38, 49, 33. 
a. 42   b. 43   c. 44   d. 45  



 

2 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

 
4. Find the average of all prime Numbers Between 30 and 50  

30 kw;Wk; 50-w;F ,ilNa cs;s gfh vz;fspd; ruhrhp fhz;f.  
a. 39.1  b. 41.5  c. 39.8  d. 37.4  

 
5. Find the average of first 40 natural Numbers. 

Kjy; 40 ,anyz;fspd; ruhrhpia fhz;f.  
a. 20   b. 21   c. 20.5  d. 0  
 

6. The average marks of 50 students is 40. The mark of a student is wrongly 

taken as 35 instead of 85. Find the correct average of 50 students by taking 

the correct mark of a student. 
50 khzth;fspd; kjpg;ngz;fspd; ruhrhp 40 vd;W fzf;fplg;gl;Ls;sJ. gpd;G 
xU khztdpd; kjpg;ngz; 85 f;F gjpyhf 35 vd;W vLf;fg;gl;lJ. 50 
khzth;fspd; rhpahd kjpg;ngz;izf; nfhz;L rhpahd ruhrhp fhz;. 

a. 38   b. 39   c. 42   d. 41 

 

7. The mean mark of 75 students was found to be 35. Later on, it was found 

that as score of 32 was misread as 23. Find the  correct mean corresponding 

to the correct score. 
 75 khzth;fspd; kjpg;ngz;fspd; ruhrhp 35 vd;W fzf;fplg;gl;lJ. gpd;G 
 32 vd;w kjpg;ngz; 23 vd;W jtWjyhf vLf;fg;gl;lJ njhpa te;jJ. 
 rhpahd kjpg;ngz;fisf; nfhz;L rhpahd ruhrhpiaf; fhz;f.  

 a. 35.12  b. 35.21  c. 35.23  d. 35.32 

 
8. The average of 5 numbers is 180. If one of the numbers is removed then the 

average becomes 155. Find the removed number? 
 5 vz;fspy; ruhrhp 180 mtw;wpy; xU vz;iz ePf;fpdhy; ruhrhp 155 vd 
 khWfpwJ vdpy; ePf;fg;gl;l vz;izf; fhz;f.  
 a. 240   b. 280   c. 320   d. 360 
 

9. Cricket player Dhoni’s average in first 30 matches was 72 runs. After 31st 
match, his average raise as 73 runs. How many runs did he make in 31st 
match? 
fphpf;nfl; tPuh; Nlhdpapd; Kjy; 30 Ml;lq;fSf;fhd ruhrhp Xl;lk; (runs) 
72 vdf;fzf;fplg;gl;bUe;jJ. 31tJ Ml;lk; eilngw;w gpd; mtUila 
ruhrhp Xl;lk; 73 Mf cah;e;jJ vdpy; 31tJ Ml;lj;jpy; mth; vLj;jpUe;j 
Xl;lq;fs; (runs) vj;jid?      
a. 100    b. 103  c. 74  d. 108 
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10. The average of five consecutive odd numbers is 61. What is the difference 

between the highest and lowest number? 
njhlh;r;rpahd Ie;J xw;iw gil vz;fspd; ruhrhp 61. vdpy; nghpa kw;Wk; 
rpwpa vz;fspd; tpj;jpahrk; vd;d?  
a. 2   b. 5   c. 8  d. None of these  

  
11. The average of runs of a cricket player in 10 innings was 32. How many 

runs must he make in his next innings so as to increase his average of runs 
by 4? 
xU kl;ilge;jhl;lf;fhuh; 10 Ml;lq;fspy; ruhrhpahf 32 Xl;lq;fs; 
vLf;fpwhh;. mLj;j Ml;lj;jpy; vj;jid Xl;lq;fs; vLj;jhy; mtUila 
ruhrhp Xl;lk; 4 mjpfhpf;Fk;?  
a. 2   b. 4   c. 76    d. 36 
 

12. The average age of 36 students in a group is 14 years. When teacher’s age is 
included to it, the average increases by one. What is the teacher’s age in 
years? 
xU FOtpy; 36 khzth;fs; cs;sdh; mth;fspd; ruhrhp taJ 14 
tUlq;fs; MFk; Mrphpahpd; taJ Nrh;f;fg;gl;l gpd; me;j FOtpd; ruhrhp 
taJ xd;W mjpfhpf;fg;gLfpwJ vdpy; me;j Mrphpahpd; taJ vd;d?  
a. 37  b. 41   c. 51   d. Can’t be determined 

 
 
13. 6 months ago the age of kiran was 18 years. 6 months hence the age of 

kiran will be  
6 khjq;fSf;F Kd;G fpuzpd; taJ 18 tUlq;fs;. 6 khjq;fSf;Fg; gpwF 
fpuzpd; taJ vd;d?  
a. 18 years    b. 17 years   c. 19 years   d. 20 years  
 

14. Sachin is younger than Rahul by 4 years. If their ages are in the respective 
ratio of 7 : 9, how old is Sachin ?                                                          
rr;rpd; uhFiytpl 4 taJ ,isath;. ,Uthpd; taJ tpfpjk; 7 : 9 vdpy; 
rr;rpdpd; taJ vd;d?  
a. 16 year  b. 18 years  c. 28 years  d. None of these 
 

15. The ratio between the present ages of P and Q is 6 : 7. If Q is 4 years older 
than P, what will be the ratio of the ages of P and Q after 4 years ?                  
P kw;Wk; Q d; jw;Nghija tajpd; tpfpjk; 6 : 7 Q vd;gth; P I tpl 4 
taJ mjpfk;. 4 tUlj;jpw;F gpwF P kw;Wk; Q d; taJ tpfpjk; vd;d?  
a. 3 : 4  b. 3 : 5  c. 4 : 3   d. 7 : 8  
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16. The total of the ages of Jayanth, Prem and Saran is 93 years. Ten years ago, 
the ratio of their ages was 2 : 3: 4. What is the present age of Saran? 
n[ae;j;> gpNuk;> ruz; MfpNahhpd; tajpd; $Ljy; 93 tUlq;fs;. 10 
tUlq;fSf;F Kd;G mth;fspd; tajpd; tpfpjk; 2 : 3 : 4 vdpy; ruzpd; 
jw;Nghija taJ vd;d?  

 a. 24 years                b. 32 years                c. 34 years                d. 38 years 
 
17. The total age of A and B is 12 years more than the total age of B and C. C is 

how many years younger than A  
A kw;Wk; B apd; tajpd; $Ljy; B kw;Wk; C d; tajpd; $Ljiy tpl 12 
mjpfk;. vdpy;> C vd;gth; A I tpl vt;tsT taJ ,isath;?  
a. 12  b.  24   c.  C is elder than A  d.  Data inadequate       

 
18. The present ages of Reena and Usha are 24 years and 36 years respectively 

what was the ratio between the ages of Usha and Reena, 8 years ago? 
hPzh kw;Wk; c~htpd; jw;Nghija taJfs; KiwNa 24 tUlq;fs; kw;Wk; 
36 tUlq;fs; vdpy; 8 Mz;LfSf;F Kd;G c~h kw;Wk; hPzhtpd; 
taJfspd; tpfpjk; vd;dthf ,Ue;jpUf;Fk;? 
a. 7 :4  b. 6 : 5  c. 2 : 3  d. 4 : 7 

 
19. A Father said to his daughter, "I was old as you are at the present at the 

time of your birth". If the father's age is 38 years now, the daughter's age 
five years back was. 
je;ij kfsplk; $wpajhtJ> ",d;W cd; taJ vd;dNth me;j taJ eP 
gpwe;jnghOJ vdf;F" vd $wpdhh;. je;ijapd; jw;Nghija taJ 38 vdpy; 
Ie;J tUlq;fSf;F Kd;G kfSila taJ vd;d ,Ue;jpUf;Fk;?  
a. 14   b. 33   c. 38   d. 19  

 
20. A Father said to his son, "I was old as you are at the present at the time of 

your birth. If the father's age is 46 years. Now, the son's age 6 years back 
was:  
je;ij kfdplk; $wpajhtJ> ',d;W cd; taJ vd;dNth> me;j taJ eP 
gpwe;jnghOJ vdf;F" vd $wpdhh;. je;ijapd; jw;Nghija taJ 46 vdpy; 
6 tUlj;jpw;F Kd;G kfdpd; taJ vd;d?  
a. 19   b. 16   c. 23   d. 17 

 
21. Sum of ages of Mohit and Riya 5 years hence will be 60 years. If the ratio of 

ages of Riya and Mohit 5 years ago was 3 : 5 respectively. Find out the 
present age of Riya? 
5 tUlq;fSf;F gpwF hpah kw;Wk; Nkh`pj;-d; tajpd; $Ljy; 60 
tUlq;fs;. Ie;J tUlq;fSf;F Kd;G mth;fspd; taJ tpfpjk; 3 : 5 
vdpy; hpahtpd; jw;Nghija taJ 
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a. 17 years  b. 18 years  c. 20 years   d. 25 years  
 
22. Ratio of present age of Rohan, Mohan, Neeta is 5 : 4 : 3 and the difference 

between present age of Mohan and Neeta is 6 years. Find the age of Mohan 
5 years hence?  
Nuh`d;> Nkhfd;> ePl;lhtpd; jw;Nghija taJ tpfpjq;fs; KiwNa 5 : 4 : 3 
kw;Wk; Nkhfd; kw;Wk; ePl;lhtpd; taJ tpj;jpahrk; 6 vdpy;> 5 
tUlq;fSf;F gpwF Nkhfdpd; taJ vd;d?  
a. 19   b. 24   c. 29   d. 34 

 
23. Present ages of Sameer and Anand are in the ratio of 5 : 4 respectively. 

Three years hence, the ratio of their ages will become 11:9 respectively. 
What is Anand's present age in years ?  
~kPh; kw;Wk; Mde;j; - d; jw;Nghija taJ tpfpjk; 5 : 4. %d;W 
tUlj;jpw;F gpwF mth;fspd; taJ tpfpjk; 11 : 9 vdpy; Mde;j; - d; 
jw;Nghija taJ vd;d?  
a. 24   b. 27  c. 40  d. can not be determined  
 

 
24. The sum of the present ages of a mother and his son is 68 years. Six years 

hence, the ratio will be 11:5 then the present age of mother is.  
mk;kh kw;Wk; mtUila kfdpd; jw;Nghija tajpd; $Ljy; 68 
tUlq;fs;. MW tUlq;fSf;Fg; gpwF 11 : 5 vdpy; mk;khtpd; jw;Nghija 
taJ?  
a. 50 years   b. 49 years   c. 48 years   d. 45 years   

 
25. One year ago a man was 8 times as old as his son. Now his age is equal to 

the square of his son's age. Find the present age of the son.  
xU tUlj;jpw;F Kd;G je;ijapd; tajhdJ kfdpd; taijg; Nghy 8 
klq;fhFk;. jw;Nghija je;ijapd; taJ kfDila tajpd; th;f;fj;jpw;Fr; 
rkk; vdpy; kfdpd; jw;Nghija taJ vd;d?  
a. 9   b. 8   c. 7   d. 6 
 

26. If in a class of 20 students, 5 students have scored 76 marks, 7 students 
have scored 77 marks and 8 students have scored 78 marks, then compute 
the mean of the class.  
xU tFg;gpy; 20 khzth;fs; cs;sdh;. ,th;fSs; 5 khzth;fs; jyh 76 
kjpg;ngz;fSk;. 7 khzth;fs; jyh 77 kjpg;ngz;fSk;> 8 khzth;fs; jyh 
78 kjpg;ngz;fSk; ngw;Ws;sdh;. tFg;Gr; ruhrhp kjpg;ngz; fhz;f.  
a. 78   b. 77.15  c. 75.95  d. 73.25  

    Solution: 
  Total marks obtained by 5 students = 5 76 380   
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  Total marks obtained by 7 students = 7 77 539   

  Total marks obtained by 8 students = 8 78 624   

          Then, total marks obtained by 20 students = 380 + 539 + 624 = 1543 

   Mean of the class = 
1543

20
 = 77.15 

 
27. Nine Person went to a hotel for taking their Meals. Eight of them spent Rs 

12 each on their meals and the ninth spent Rs. 8 more than the average 
expenditure of all the nine. What was the total money spent by them?  
czT cz;gjw;fhf 9 egh;fs; cztfk; nry;fpd;wdh;. mjpy; 8 egh;fs; 
mth;fSila cztpw;fhf jyh & 12 nfhLf;fpd;wdh;. 9-MtJ egh;> 
midtuJ ruhrhpia tpl & 8 mjpfk; nrytpLfpwhh;. vdpy; mth;fs; 
nrytpl;l nkhj;j njhif vt;tsT?  
a. Rs 115  b. Rs. 119  c. Rs. 117  d. Rs. 120  

 Solution: 
  Given that eight members spent Rs. 12 each. 

  Let the average expenditure of all the nine be x  

Given that, the ninth member spent Rs. 8 more than the x  

 Therefore, the amount spent by the ninth member is x  + 8 

    x  = 
 12 8 8

9

x  
 

   9 x = 96 + x  + 8 

   8 x = 104   x  = 13 
 Total money spent by them is (12  8) + 13 + 8 = Rs. 117 

 
28. The mean of the square of first 11 natural numbers is. 

Kjy; 11 ,ay; vz;fspd; th;f;fq;fspd; ruhrhp 
a. 26   b. 46   c. 48   d. 52 

      Solution: 
  The sum of the square of first n natural numbers. 

    2 2 21 2 ... n    = 
( 1) (2 1)

6

n n n 
 

  The sum of the square of first 11 natural numbers. 
   Put n = 11 

    = 
11(11 1)(22 1)

6

 
 

    = 
11(12) (23)

6
 = 11 2 23   

        The mean of the square of first 11 natural numbers  

    = 
11(2) (23)

11
 = 46 
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29. Ratio of ages of Muthu and Karthi at present is 5 : 3. But 6 years ago that 

ratio is 3:1. What is the ratio of their ages after 5  years? 
 Kj;J kw;Wk; fhh;j;jp MfpNahhpd; jw;Nghija taJfspd; tpfpjk; 5:3. 

 Mdhy; 6 tUlq;fSf;F Kd; mJNt 3 : 1 vd ,Ue;jJ. vdpy;> 
 jw;NghjpypUe;J 5 tUlq;fSf;Fg; gpwF mth;fSila taJfspd; 
 tpfpjk; vd;dthf ,Uf;Fk;? 

 a. 5 : 4  b. 10 : 7  c. 10 : 8  d. 4 : 3 

 Solution: 
  Age of Muthu & Karthi be 5x and 3x 
  6 years ago the ages of Muthu & Karthi was 5x – 6 and 3x – 6 

                So, 
5 6

3 6

x

x




 = 

3

1
  

    5x – 6 = 9x – 18 
    18 – 6 = 9x – 5x 
                     12 = 4x 
                     x = 3 

Present age of Muthu is 15 years. 
Present age of Karthi is 9 years. 
After 5 years, the ratio will be 20 : 14 = 10 : 7 
 

30. 8 years ago, Arun's age was  
4

3
 times that of Vinoth. 8 years hence, Arun's 

age will be 
6

5
 times that of Vinoth. What is the present age of Arun?  

8 tUlq;fSf;F Kd;G mUzpd; tajhdJ tpNdhj;jpd; taijg; Nghy 
4

3
klq;fhFk;. 8 tUlq;fSf;Fg; gpwF mUZila tajhdJ tpNdhj;jpd; 

tajpy; 
6

5
 klq;F vdpy;> mUzpd; jw;Nghija taJ vd;d?  

a. 20    b. 25    c. 30   d. 40 
     Solution: 
  Present age of Arun    = x 
  Present age of Vinoth = y 

          x – 8 = 
4

3
 (y – 8) 

          x + 8 = 
6

5
 (y + 8) 

         
3

4
(x – 8) = y – 8  

         
5

6
 (x + 8) = y + 8 
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         y = 
3

4
( x – 8) + 8 = 

5

6
 (x + 8) – 8  

            10 - 
20

3
 = 

10

12
x  - 

9

12
x  

           
10

3
 = 

12

x
 

               x = 40 

 

AVERAGE & AGES WORK SHEET Answer Key  

 

1 2 3 4 5 6 7 8 9 10 

B A B C C D A B B C 

11 12 13 14 15 16 17 18 19 20 

C C C D D D A A A D 

21 22 23 24 25 26 27 28 29 30 

C C A B C B C B B D 

 
 

 

 

 


